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1. ®�­¡këê�§

r(u, v) = (x(u, v), y(u, v), z(u, v)),

�kF (x, y, z) = 0, Áy²:
(1) n = (Fx, Fy, Fz)/

√
F 2

x + F 2
y + F 2

z ;

(2) I = dx2 + dy2 + dz2.

2. XJu∗, v∗ ´¦­¡�

(
E F

F G

)
,

(
L M

M N

)
Ñ�é�.��Kë

ê, ¦ ∂r
∂u∗ � ∂r

∂v∗ ���^�.
3. ¦�m�K­����¡�­Ç�, '�­Ç��­Ç�T­¡�

Ì­Ç.
4. �3­¡þ���½:Ú���Ì��Y��θ ����¤éA�

{­ÇP�k(θ), Áy²: 1
2π

∫ 2π
0 kn(θ)dθ = H, Ù¥H �­¡�²þ­Ç.

5. �­¡S1, S2 ���C �­Ç´k, ­�C 3­¡Si þ�{­Ç´
k

(i)
n (i = 1, 2). �S1 �S2 3�:�{��m���θ, y²:

k2 sin2 θ = (k(1)
n )2 + (k(2)

n )2 − 2k(1)
n k(2)

n cos θ.

6. 3�ß:?, XJ���θ0 �?¿ü����{­Ç�Ú�~ê, y
²: θ0 = π

2 .
7. �­¡3�:�Y�� 2π

m �m (> 2)���þ¤éA�{­Ç�
k

(i)
n , i = 1, · · · ,m. y²: H = 1

m(k(1)
n + · · · + k

(m)
n ).

8. 3­¡r = r(u, v)þz�:÷{�������λ��ã(�λ¿©
�), Ùà:;,�¤­¡r∗ = r∗(u, v). y²: 3r �r∗ �éA:þk

K∗ =
K

1 − 2λH + λ2K
,

H∗ =
H − λK

1 − 2λH + λ2K
.

9. y²: e­¡3�:?kn�ìC��, �¦�üüØ��, KT:
�½´²:.

10. y²e�·K�d:
(1) p´­¡þ�ß:;
(2) p:?Gauss­Ç, ²þ­Ç÷vH2 = K;
(3) p:?����þÿ/LÇτg = 0;
(4) p:?����þkn ��.
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